Special Algebra By Alok Sir

Type-1
1. If2x+g:3,thenthevalueofx3+i3+2is
X X
9
a —_
(a) 5
25
b) — 5>
(b) 2
.
C T
( )8

(d) 11
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2. |If x +£:p, then what is x° +i6 equal to?
X X
(a) p° +6p
(b) p° - 6p

(c)p® +6p* +9p° +2
(d) p° —6p* +9p° -2
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3. If 3x +i:5 then the value of 8x° + 3
2% 217X

1S

1
a)118 =
(a) 7

10
b) 30 —
(b) 27

(c)O
(d) 1
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4. If foranon-zero x, 3x* +5x +3 =0, then the

value of x3 +i3is:
X

10

a -

( )27
10

b) - ——

(b) 27
2

C =

( )3

2
() =



Special Algebra By Alok Sir

Type-I|

S |f x+1:5 then the value of
X

X% +3x% +5x% +3x +1.
4 IS
X" +1

43
(a) 23
47
(b) >l
41
(c) 23

45
OF
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6. 1f — 2P =£thenthe value ofp+£is
p°—-2p+1 4 P
(a) 10
(b) —-10
(c) 15

(d) 6



7.
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If X +§:3 then find

(a) 0
(b) 1
(c) 2
(d) 3

Type-I|
X°+X +2 .

2 IS
X X“(3 —X)
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8 If x?2 +i2:66then X" 2% 2X is
X X
(a) 8
(b) 10,-6
(c) -10

(d) +4
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9. Ifn=7+4+3 then the value of \/ﬁ+% 1S
n
(a) 24/3
(b) 4
(c) 4

(d) —2+/3
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10.1f x =3 +2+42 then alls :X +1is
X
(a) 216
(b) 192
(c) 198

(d) 204
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11. If x =3 +2+/2 and xy =1 then the value of
X +3Xy +y° o
X% —3Xy +y?

30
(a) 31

70
(b) 34
35
(c) 31

37
OF



Special Algebra By Alok Sir

Type-lIV
12. 1+ m :\/gii& n :g;i then the value of
m? + n®is
(a) 14
(b) 13
(c) 15

(d) 10
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13. N3 -42 _f+f
Ifa_ﬁ+ﬁandb N \/,
(a) 1030
(b) 970
(c) 1025

(d) 930
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14 9f x =«/§—% and vy =\/§+% then Xy2 +>;2
1S
(a) V3
(b) 34/3
(c) 1643

(d) 24/3
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15 X(B—gjzg, then find the value of
X
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16. 1f x >1 and x +£:2% then the value of
X




